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Precalc Chapter 1 Practice Test

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1. Write the equation of the line that passes through the point P (1, 3) and is perpendicular to the line y = - 5x +

1.

a. y=-;-x+1 b. y=lx+2.8 c. y=x+28 d. x=2.8y-1--l

2. Evaluate the

F()=6x-9
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5 5

difference quotient for the function.
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3. Use the graph of the function to find the domain and range of f.
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a. domain
range:
b. domain
range:
¢. domain:
range:
d. domain:
© range:

1 (=0, =2} Y (-2, )
{(~, =2} (-1, x)
: {~oo, =2) U (-2, )
{_23 - 1}
allreal numbers
{"23 - 1}
{_23 - 1}
allreal numbers

e. domain: (-0, —2) (-2, )

range:

(_Is 1)

e. y=

1
5x+3.2



Name:

4. The graph of a function is skeiched below.

ID: A

Determine the interval on which the function is decreasing.

a. (-, -3]N[-1,0) b. [-3,-1] c. (~w,-3]U[-1, ©) d. [-},-1] e. [1,3]

5. Use a graphing utility to graph the function and approximate (fo two decimal places) any relative

minimum or relative maximum values.

fx) = x4 267 -2 +2

a.

b.

relative maximum
relative minimum:
relative maximum

relative minimum:

relative maximum

relative minimum:

relative maximum

relative minimum:

relative maximum

relative minimum:

: (627, —1.72)
(1.58, 0.39)

: (0.39, 1.58)
(-1.72, 6.27)

. (1.58, 0.39)
627, -1.72)

: (<1.72, 627)
(0.39, 1.58)

: (1.58, 7.82)
(6.27, 314.35)
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6. Graph the piecewise-defined function.

— _Jx + 7T if x<0
y=£f(x)=
7 if x>0
7T AR 7T ¥ . ; T T o HE H
) ! : ! : : : S !
! [ : i ; : : : S
I P — | FURp I [ - g, -~ 404 [ PR, 1 1 " 1 1
= e i T SR st
: : ; : S ' : . : !
1 1 1 L] . 13 E 1 r * ]
a. A, bbb d o e i
E ) 1 _I . ] 1 ) 1 I i
L L e R
e e R T2 A b ! b ! g
A i i ! g i TTTTTTTT A ]
pomeee 7T O R :
1 1 il ]
! ' -: ;
SRR S ST SO
] 1
d 77 T S
o |
- ,: »2.,'5,.,..:,,; -k
1 1 1 ¥
L, L
| S I . 4
! : : :

7. The function f(x)=x 2. 6 is one-to-one on the domain (x <90).Find = l(x) .

a. fley=Ax=6 b fl@)=Ax+6 c Tl =x2+6 d flx)=-x+6

1 - 1
e. [ (x) x2—6

8. Describe the sequence of transformations from the related common function f{x) = Nx to g

gy = ~~fx +5

a. reflection in the y-axis; then horizontal shift 5 units right b. reflection in the y-axis; then vertical
shift 5 unitsup c¢. reflection in the y-axis; then horizontal shift 5 units left d. reflection in the
x-axis; then vertical shift 5 units up e. reflection in the x-axis; then vertical shift 5 units down



ID: A

) 1
) )
......... |-~ e- R

%
¥
;

o
1
vl
———
I
&
. I
BN
| -1!’3 ————n
| ]

oo
g
'

S S

_______________

H Y |

| H
..... e LT T A

] 1}

i H

E P
-2 -1 1 X

1 i

1 t

] 1

; i

+ 1

I3 1

] !
T e C-r TP .

! |

1 1

10. Evaluate the function at the specified value of the independent variable and simplify.

x, x< -1
fx) = 242, -1<sx<1

x3+2x2, x>1

Short Answer

1L

12.

A line passes through the two points P(2,2),and (-1, —1). Write the equation in slope-intercept form.

Let the function fbe defined by the equation y = f (x) , where x and f (x) are real numbers. Find the domain of

the function f(x) =~ 36xr% -4 .

Please enter your answer in interval notation.



Name:

ID: A

13.

Find the inverse of the one-to-one function.

y=2+7

14.

15.

16.

17.

18.

19.

20.

T w=-__

Evaluate the function at the specified value of the independent variable and simplify.

_.SP
q(p) - 2p-1

q(y-4)

Use the functions given by f(x) n% —~land g(x) =x> to find the indicated value.
-1
(fog)

Findg o f.
f&)=x+3  g(x) =x

Use a graphing utility to graph the function and visually determine the intervals over which the
function is increasing, decreasing, or constant.

f)=xVx+4 +2

Find the difference quotient and simplify your answer.

farm-ra) .

p 0

flix) = 6x> - 5x,

Find all real values of x such that f(x) = 0.

fw) = 22

Find the value(s) of x for which f (x) = g (x).
flx) = x2+19%+10 g(x) = 9%+1
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16. (g°f)0r)=x>+6x+9
17. decreasingon (~o, - 3)

increasing on (-3, o)

18. 7+6A
2
19, —3

20. -9, -1



